
PAPER SOLUTION

JEE 

MAIN
2025

JAN  SHIFT

Aryan Agarwal 
Founder and CEO 

CVPS INTEGRATED STAR COURSE

From Meerut

28 2nd 



Rank Predictor

Question Paper



#Q.  If 𝑸 =
𝒄𝒐𝒔 𝜽 −𝒔𝒊𝒏𝜽
𝒔𝒊𝒏𝜽 𝒄𝒐𝒔 𝜽

, 𝑩 = 𝑸𝑷𝑸𝑻 and matrix A is defined as A = 𝑸𝑻𝑩𝟏𝟎𝑸 

(where 𝑷 = 𝟐 −𝟐
𝟎 𝟏

), then trace of matrix A is 
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#Q.  Let 𝑷𝒊 be image of parabola 𝑷: 𝒚𝟐 = 𝟒𝒙 with respect to line 𝒙 + 𝒚 + 𝟏 = 𝟎. Let 

the line 𝒚 + 𝟓 = 𝟎 intersect 𝑷𝒊 at A and B. If a is the distance between A and 

B and d be the area of triangle SAB where S is the focus of parabola 𝑷𝒊. Then 

𝒂 + 𝒅  is 

JEE MAIN 2025 PAPER DISCUSSION

A

B

C

D

8

12

20

10

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



JEE MAIN 2025 PAPER DISCUSSION

Ans. (C)

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



#Q.  For positive integer 𝒏, 𝟒𝒂𝒏 = 𝒏𝟐 + 𝟓𝒏 + 𝟔 𝒂𝒏𝒅 𝑺𝒏 = σ𝑲=𝟏
𝒏 𝟏

𝒂𝑲
. Then the value of 

507 𝑺𝟐𝟎𝟐𝟓  is 
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#Q.  𝒇: 𝟎, 𝟑  → 𝒃, 𝒇 𝒙 = 𝟐𝒙𝟑 − 𝟏𝟓𝒙𝟐 + 𝟑𝟔𝒙 + 𝟕 is an onto function 𝒈: 𝟎, ∞ →

𝒅, 𝒈 𝒙 =
𝒙𝟐𝟎𝟐𝟓

𝒙𝟐𝟎𝟐𝟓+𝟏
 is also an onto function. Find the number of elements in the 

set 𝑺 = 𝒙: 𝒙 ∈ 𝒁, 𝒙 ∈ 𝒃 𝒐𝒓 𝒙 ∈ 𝒅
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#Q.  The greatest interior angle of a polygon is 𝟏𝟕𝟏𝟎 with n sides such that its 

angles are in Arithmetic progression with common difference of 𝟔𝟎. Then n 

is equal to
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#Q.  If S is a set of words formed by all the letters of word ‘’GARDEN’’, then find 

the probability that vowels are not in alphabetical order.
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#Q.  In isosceles triangle two equal sides are 𝒙 + 𝟐𝒚 = 𝟒, 𝒙 + 𝒚 = 𝟒, then the sum 

of all possible value of slope of third side of triangle is 
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#Q.  If 𝜶, 𝜷, 𝜸, 𝜹 are real numbers such that 𝜶 + 𝒊𝜷 𝒂𝒏𝒅 𝜸 + 𝒊𝜹 are roots of the 

equation 𝒙𝟐 − 𝟑 − 𝟐𝒊 𝒙 − 𝟐𝒊 − 𝟐 = 𝟎 (where 𝒊 = −𝟏), then 𝜶𝜸 + 𝜷𝜹  is 

equal to 
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#Q.  The domain of the function 𝒇 𝒙 = 𝒔𝒆𝒄−𝟏 𝟐 𝒙 + 𝟏  is (where ∙  represents 

greatest integer function)
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#Q.  If p is the number of possible values of r such that 𝑻𝒓, 𝑻𝒓+𝟏, 𝑻𝒓+𝟐 are three 

terms of 𝒂 + 𝒃 𝟏𝟐 are in geometric progression and if q is the sum of 

rational terms in the expansion of 𝟑𝟏/𝟒 + 𝟒𝟏/𝟑 𝟏𝟐
, then 𝒑 + 𝒒  is 
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#Q.  The no of natural number between 212 & 999 such that the sum of their digits 

is 15
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#Q.  There are three bag such that bag 1 has 4 white, 6 blue, bag 2 has 6 white 

and 4 blue and bag 3 has 5 white and 5 blue balls. A bag is randomly 

selected and a ball is randomly picked out of it, it comes out to be white then 

probability that selected bag was bag 2.
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#Q.  Area bounded between the curves 𝑪𝟏: 𝒙 𝟏 + 𝒚𝟐 − 𝟏 = 𝟎 𝒂𝒏𝒅 𝑪𝟐: 𝒚𝟐 − 𝟐𝒙 = 𝟎 is 

(in sq. unit)
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#Q.  Evaluate

  σ𝒓=𝟏
𝟏𝟑 𝟏

𝒔𝒊𝒏
𝝅

𝟒
+ 𝒓−𝟏

𝝅

𝟔
𝒔𝒊𝒏

𝝅

𝟒
+

𝒓𝝅

𝟔
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#Q.  Let 𝒇 𝒙 = ׬
𝒅𝒙

𝒙
𝟏
𝟒 𝒙𝟏/𝟒+𝟏

. 𝑰𝒇 𝒇 𝟎 = −𝟔 𝒂𝒏𝒅 𝒇 𝟏 = 𝒂 𝒍𝒏𝟐 + 𝒃 𝒕𝒉𝒆𝒏 𝒂 + 𝒃 =
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#Q.  𝒙𝟐 + 𝒚𝟐 − 𝟖𝒙 = 𝟎,
𝒙𝟐

𝟗
−

𝒚𝟐

𝟒
= 𝟏 intersect at A, B, A triangle is formed using 

vertices A, B, C where C lies on 𝟐𝒙 − 𝟑𝒚 + 𝟒 = 𝟎 find locus of centroid of 

∆ABC.
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